108 ADVANCED PLACEMENT CALCULUS WITH THE TI-89
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9. About 379 feet

10. No
Chapter 8
1.
(a) MAIN FAD AUT FAF
(D) .667
© -2
3
(d) 15.8654
2.
(a) TAIN FAD AT FAR
(b) 0
© 0
(d) 9.42943
About 389 feet
HAIH EAD ALT AR
5. 1.921
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APPENDIX D: SOLUTIONS

109

standard window

standard window

[-2,2] x [-2,2] x [-1,1]

+(x-1)

6.

(@) |rEm FAD ALTH 50

(b) il EAD AUTO 2D

(©) |rem FAD ALTH 50
Chapter 9
1. Converges to 0.
2. Converges to 0.
3. Diverges.
4. Converges to -0.693 (In(1/2)).
5. Converges to 2.718 (e).
6. Converges to 3.141 ().
7. Converges to 2.
8. Diverges.

8 6 4

g X 22 ¥ 2.4

315 45 3
10. Same result as Exercise 9.

15 Y 3 2
1L (z-1)" (x-1 +(x D” (x-1
5 4 3 2
PN 2

12 Qr-m)" (x-m) +1

384 8
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